N /N N
-2 1A 5.0ptAB : 5.0ptBC : 5.0ptAC =5 :4:3 4 o,
(AOB 9] 2715 5o},



2. oS aFNA /A =70° < 1, /B 9] 7|2

A

A 55° ? 60° B 65° @ 70° B) 75°



th= 2HolA PA 9 PB = A AB & 424 AR of= 99
A Motk /APB 9 27]7F40° U ], sx o] 27]= F5hodat,

A
>



4. o5 O™ gy - 2x 8] 2717

@D 10° ® 20° ® 30° @ 50° ® 60°



5. ohe 230l4 € 0 & aABC | 9190Ick. 5.0ptAB : 5.0ptBC -
50ptCA =3:4:5 % o, /ZABC 9] 37]=?

A

BQ
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@D 70° @ 175° B 78° @ 80° (B) 84°



g 29 2ol Wshs A4
ABCD of tjs}te] zy—zx 9] 27]=7

D 10° ® 20° 3 30° @ 40° B 50°
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thS 104 gABCD 7} Yo 1HS o,
ix+ 2y + 229 3He?

@D 150° ® 140° 3 130°
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B 110°



thg 2Yeld PT, PTr & 217 5 9
0, Or & HAOT = 4 T, Tr & HY

oltt. AB=3,PA=44 9, PT-PT"
of gre?

D 28 o 27 B 26 @ 25 B) 24



9. AB=AC=38, AP =6 ¢ d, PQ 9
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10. thg 22 9 0ol4 OM = ON Y o, x| ghe Fatelet,



11. o2 O3 o] AB = BC ¢l o] 5474 ABC o4 BC = 10cm
, OM = V5cm 9 o], ACOB 9] {o]=?

N,
NS

15vV3 5v30

@) 2\/_cm2 @) 4 cm? ® 5v30cm?
5vV30 V30

@ 5 cm? @ TCm2



12. o2 389 9 0 oA PA,PB 2 HAol1l, & A, B2 HHoltt
/OAB = 20° € o, /ZAPB 9] 37]=?

W

B

@D 30° @ 40° 3) 45° @ 50° ®B) 20°



13. o5 ™A ¥ O+ 2rABCE ol A F7E L 09 A
T, ACDE 9] 39| Zol& +35fofzt.




14. o5 T804 AB, AD, BC & ¥ O 9] A off, x o] 32?7

_-5em .

® +5em @ 2+5cm ® 24/10cm
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15.

ge el A

o] Jxolct. AD +

o, AABC 2] =9 9]




16. & JgoA AB = ¥ 0 ¢ A|20]1, /COD = 48° 4 o, ,CPD
o] 27|& “Fotofet.

@ 60° ® 62° ® 64° @ 66° ® 68°



17.

th2 I3} 2ol 9 O o WHskH= &2
Foll A LA = 100°, 2C = x°, /E = 120°
d o, 2x o] 371E Fotofet,




18. t©t& 1FolA PDC =104° & W}, x +y 9] Fr&9

@D 312 @ 256 B3 212 @ 200 B 180



19. tg 1A /BAE = 60°, /ECD = 70° ¥ o], cABCD 7} ¥
YHst7] QI3 BEC ¢ 271& sl

D



20.

b 2ol A AR Lolst 7t

4ol 7t
ZF 443, 243 Q1 T ZA1Q9] HA
PT, PR ¢t &= HH T, R 7} ot
PA =421 & o, PT 9] Zdo]& +
SHH?

D7 @ 8 ® 9
@ 10 G 11




21.

oh2 1 Zo] o 9]¢
oA 12 A wd
(APB =40°¥4 o, /x

@D 90° ® 95°

o

LIUIOL

W o 4n

HA B
ot 514

7=

D
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@ 110°
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22,

-2 oA AB & F 9] 3530,
A0 dCDe YO dEFS By
2 P2} 5kA PE = 2cm, PF = 9cm,
PC = 6em® 1), PD o] 2o Fato]

5

e = cm



23. o YA EF &= F Y9 35do|1,
PA=3PC=45PE=4EF =5Y
o, AB + CD 9] 3t= F-otoi=t,




24.

th2 1394 PA-PB = PD-PC
o]3l /ADP = 70°, /ACD = 35°
Q uf, x o] 275 Fatelat. (g
Sl erate))




25. o2 O9HoA AQ & /A o] o] 5E éol
tt. AP =9, BQ =6, PQ = x & o,
PQ o] Zol& Fotoizat,




